Apartment in Sliema



Sliema, Sliema and St Julians Surroundings





Total Rooms: 8

Bathrooms: 3

Reference No: 240171020-148



Floor Area (m²) : 220

Bedrooms: 3

Apartment - For Sale - Sliema

SLIEMA - Luxuriously finished and furnished SEAFRONT APARTMENT. Accommodation comprises a large sitting / dining room, kitchen / breakfast, separate TV Room, three large bedrooms and two with open plan style baths with separate toilet, guest bathroom, study area, sauna, large terrace with dining area, and entertaining area. The property is located on a corner so it has plenty of light and amazing views. There is glass all around the property. The property has been refurbished and furnished to the highest of standards with Italian furniture, lighting, tiles and soft furnishings. A must see property. To be sold fully furnished. Property is near to all amenities and it is fully air conditioned. Approximately 300 square metres.

Features

- Lift
- Gypsum Plastering
- Skirting
- Terrace

Rooms

- Bathroom : 2 x 1.4 m (2.8 m2)
- Single Bedroom : 7 x 4.7 m (32.9 m2)
- Bathroom Ensuite : 2 x 1.5 m (3 m2)
- Single Bedroom : 3.8 x 7.6 m (28.88 m2)
- Hall : 1.65 x 3.5 m (5.78 m2)
- Kitchen : 3.4 x 3.3 m (11.22 m2)
- Bathroom Ensuite : 2 x 1.5 m (3 m2)
- Living/Dining : 5.4 x 10 m (54 m2)
- Single Bedroom : 4.5 x 3.6 m (16.2 m2)

- Entrance Hall
- A/C
- 🗸 Wi-Fi

Gallery





























Nadine Busuttil RE/MAX Specialists - Tigne Point

M: 79823210 E: nadine@remax.com.mt T: 21339121

RE/MAX Specialists - Tigne Point RU21A,The Point Shopping Mall,Tigne Point, Sliema, Malta